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& % 4473 +0.18 I} 5o 2 A2 ol AYY7R?

@® 44.73+18 @447.3 + 18 ® 4473 +18

@ 0.4473 + 18 ® 44730 + 18
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3. %Al Bol 2718 awstel [ o] >

MO,

9.36+3.6[ ]3.375+1.25

9.36 + 3.6 = 93.6 + 36 = 2.6,
3.375 + 1.25 = 337.5 + 1256 = 2.7
9.36+3.6 < 3.375 + 1.25
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100 =~ 125
% = % =100 + 125 =0.8
10 +12.5 = 0710
234 26
= =234+26 =
234+26= <o T 10 3. 6=20.9

= 10 +12.5 < 2.34+2.6




35+25028+1.75

35+ 2.5 (= 14) < 28 = 1.75 (= 16)
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Fol=35L Exo 1 Zo 14L A o= ez 25 HoHY
Mok &z &5 715 A7) YA 2 & &<t 28 Tofof

35+1.4 = 350 + 14 = 25(&)
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54 + 4.5 = 540 + 45 = 12(&)
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® 87x2+0.218
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10. (FIOW)=(t+h)+(H=7h & of, o2 A4SHA 2.

(1.700.34) ©0.26

it

>
> Fehl 2005

0.

1.700.34 = (1.7+0.34) + (034 + 1.7) = 5+ 0.2 = 5.2
5.200.26 = (5.2 = 0.26) + (0.26 + 5.2) = 20 + 0.05 = 20.05




11. ojE 52114 2 L}iro] 28 25 S4) Aej7ix] Tohd 213 o]
Y 2= 0.002 JUTh oH 4= AukQlA] A5HA 2.
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[ ]+11.4=213---0.002
[ ]=11.4x213+0.002 = 24.284
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®s58 @2 ® 624 @ 65 ® 6.64

ol 52 [ ot 5
29.64 +[ |=4.78---0.004
[ ]=(29.64 —0.004) + 4.78 = 29.636 + 4.78 = 6.2




13. HAo|= AHE 18.4kg T, Jot= 11.35kg BHUTH 5 Abgo]
o AFLE S AR 4.25kg A HeTHA, ARt B E H 7 Ha gt
Y72

A= B 18.4 4 11.35 = 29.75 (kg) YU th.
29.75 + 4.25 = 7(7H)
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L2 glo]| X7} 6.35m, WA o] 7 12.5m QL

Z47Y 0.8m A Zet o] FlEU T U] 11 11,31-0 A Hlol =
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(ke Ho]Z)=6.35+0.8 =7---0.75

(WA Hlo]Z)=125+0.8 =15---0.5

(‘g2 A Hlo|Z Zo]9] 3H)= 0.75 4 0.5 = 1.25(m)




15.

Fol 25.2 o], 271596 ¢ F 57t AFYTh
22 1} 52 el 4% =4 A7

Ch "
| —

| 2
> ®=e: 162

i

ol ofj, & %
o]-/\]j)_‘

rlo

4)=(25.2 + 5.96) + 2 = 15.58
2 4)=(25.2 - 596)'2:9.62
62 =1.619--- o]|B=2

—
S
ot
oo

9.
2o ureesto] & %ﬂﬂ A=) 7HA] ot 1.62 7F Huy o




<t o

Il A4 e dole A4 nr=of dole

©
=]

16. ¢

0.28 cm

ul

2.8 x 1.8 + 2 = 2.52(cm?)

(4749 o=l Yol)

= 2.016(cm?)
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2.016 x 2 + 1.6 = 2.52(cm)

L9 Zol)

ta29] Zo])= 2.8 - 2.52 = 0.28(cm)
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